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Falling and Air Resistance "

Brones skyvidives and parachutes from a sta-
tionary helieopter, Varous stages of fall are
shown in positions g through £ Using
Mewton's 2nd law,

_ Far . W=R
s s Tk

find Broncao's aceeleration at each position
fanswerin the Blanks to the right), Yeu need 1o
know that Broneo’s mass meis 100 kg so his
weight is n constant LO00 N. Air resistance it
vaties with speed and eross-sectional aren as
shown

Circle the correct ansiers.
. When Bronco's speed is lease, his
aceelerpdomnd

(least

In which positionis) does Bronen

aripgee & downward acceleration?
‘ ta) (hy lr.] [dl fe) (1

. Inwhich position (=) does Bronco
experence an upward aceeleration?

(@) ) (ST

. When Bronco experiences an upward
acreleration, his velocity is

{upward also)

5. Inwhich position(s) is Bronco's
velncity constant?

|a) (b} Q (d) {ed

Lnwhich position(s) does Bronco
rperience terminal velocity?

(a) (b atdl [e:r@.

. In which position(s) Is terminal velocity
Ereatesti

{al ih:'@ (dy {ed (0

¢ 8. |l Bronco were heavier, his terminal

ould be
fless)  [the same),
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Chapter & Mewton's Second Lew of Motion—Feroe and Arcelerason

&)

~
R=0 &}:-‘IOWJ&
W =1000 N

R=400 N

W =000 N
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W =1000 N

R=1200 N
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W=[000N
R=2000 N
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W=1000 N

R=1000 N
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